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ANOOT (7N FRLARNT Fyb 240 190 50
ANOO2 [7WIFRLEANT b 240 190 50
ANOO3 (713 FRLAANT Fyb 240 190 50
ANOO4 [7WIFRLEANT b 240 190 50
D0702 |7 AMJE 1-4-Y4700YVY 320 270 90
D0704 |7 AME" 1-4-Y%700YVY 330 250 80
D0901 |7 AME" 21-5-0Yu% 135 120 15
D0902 [ALY¥7hNG" -Yuy 130 115 15
DP408 |+ Lun' v¥Y 210 170 40
HBLF1 |AY% 07 K Wb 950 650 300
HBLHT |AY% N7 & Wb 1,080 850 230
HBLM1 |AY%" n7 & Wb 1,080 850 230
HBLNT |AY%" n7 & Wb 950 650 300
HBLN2 |AY% n7" & Wb 1,080 850 230
HBLST |AY% N7 & Wb 1,280 1050 230
HBLS2 |AY% N7 & Wb 1,280 1050 230
HBLT1 |AY% 7 K Wb 950 650 300
HBLT2 |AY% 17 & Wb 2,050 1650 400
0G701 |A4havha=b b7° 1" Ay b 1,200 1000 200
OP301 [#4Mi" 7" P/K 400 360 40
OP401 [#4Mi" 7" P/K 850 160 90
OR701 |*4W9-3-h" Ay b 330 270 60
RB701 |)¥¥4¥7+B/GY7-1- 650 570 80
RB702 |)¥¥¥7+B/G)7-1- 680 570 110
SP004 |anN —-hF-)uh° 1,040 110 330
SP106 [A2-n"-7° 34 0y 150 110 40
SP108 |an -97° 39 0Yv)° 390 320 10
SP402 |an -97° 39 0Yv)° 520 410 110
SP703 |an -97° 39 0Yv)° 610 420 190
VS007  [4n" yby=Yoh" 9994 120 90 30
VS104 |9~ ybo-Uuy 330 280 50
VS401  [4n" ybho=1)0h" 7994 120 90 30
VS403 |97 ybo=Uuh D994 300 220 80
VS702  [48" ybho=1)0h" 7994 470 330 140
VS805 |9A" yhy-Uuh Tyyy 130 110 20
VGOO7 [4A"yban -P/K 1,200 840 360
VGO13 |3~y -P/K 1,720 1,080 640
VGO13K [4A" y AN —P/Kfy b 2,800 1,800 1,000
VGO17K [497" ybAn —P/K¥y b 1,190 1,090 100
VGO25L [4A" y AN -1 y%y 1,220 830 390
VGO25R [4A" AN -1 y4y 1,370 940 430
VGO3T [4A" yhin - 1,040 930 110
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VG032 [4n" vy 93y 1,040 940 100
VGO42 |4n" g =i y¥u4y b 1,040 840 200
VG125 [4A"yban -0 ¥y 850 710 140
VG908 [4A" yhan® -P/K 1,470 880 590
VG919 [4A" yian -P/K 1,470 880 590
VG924 4~ yhan - 3y 1,050 840 210
RN906 |07 mystyh 390 330 60
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